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U.G. 2nd Semester Examination - 2020
BOTANY
[GENERIC ELECTIVE]
Course Code : BOTH/GE-T-02

Full Marks : 40 Time : 24 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in their

own words as far as practicable.

Answer all the questions.

1. Answer any five questions: 2x5=10

@~ Ao aoss Tex wie ¢

a) Distinguish between 'Catkin' and 'Spike'
inflorescence.
FoRET @ =ifEF oNgIa dren 74|

b) Define artificial and phylogenetic system of
classification.
Flaw ¢ Gifoersre @A RAyeR e 76 |

c) Give two economically important plants of

lamiaceae family.
bt coieaa uit wieltafos wwresd Sfgnm @
=14
d) Define food chain and food web.
AWM WEel @ Yy oA @] 11 |

[Turn over]

e) What is 'flora'? Give an example.
@R I A2 9 TrRRd 7S |
f) Name any two Botanical Garden of West
Bengal.
ARG @ @I 96 QBRI oAl I @12 |
g) Define soil. Name the major soil types found

in your state.

el e cofNm ey aid o1 Jhed @Tafm

I (574 |
h)  What do you mean by VOC? Give an example
of VOC.
VOC F&1ce & @RI ? @356 VOC SoAmits Swizael
s |
2.  Answer any two questions: 5x2=10

@~ 9o 2o Teg wis ¢

a)  Schematically represent the phophorous cycle.
BCHH ANRIR) A b el 4 |

b) What is Labellum? In which family it is
observed? Write the diagnostic features of that
family. 1+1+3=5
FIIRE (52 @ft @ ollta (rce sfedl TRe @
(SNCas Feesel CaRBafe @19

c) Describe different types of placentation with
diagram.

ooz fafen oia AIEwE=e I 54|
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3. Answer any two questions:

What do you mean by Biodiversity hotspots?
Write a brief notes on Indian hotspots.
1+4=5
AEACReRMG 2570 e F @R SRR
2R TR 90 R TRAl T4l 9 |
10x2=20

@I 9o e Ted wie ¢

a)

b)
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Define endemism. Name two endemic plants
of India. Describe the botanical Zonation of
India as suggested by Dr. D.Chatterjee (1962).
1+2+7=10
QTSP I A 2 4o SITOR AT Sfemd I
=12 | @ TS, BrbEa Telgaist (1962) SiFelx Sfgn
el a9 =
What is Cypsella? In which plant family it is

found? Describe diagnostic features of that
family. Mention economic importance of that
family. 1+1+4+4=10
PIoeTTl 52 (@ Sfen (alitg it rece #ihel AR 2
& Tfegn (olieg Fresad @Rl @1 Sfew
olain wfes wwg i@ 1|

What do you mean by Natural system of

Classification? How it is differs from artificial
and phylogenetic classification system?

Schematically represent the Bentham and
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d)
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Hookers system of classification along with
its two merits and demerits respectively.

1+3+4+2=10
Feiie @ e we & @R Ffan e
wrifoersre (@t Ko™ 1 el @@ [RaneR
AL @19 | 2 AR ([EN ¢TI @l
e Amfol e 11 @2 @l [eier 9 F@
W ¢ @ I 39|

Define succession. What are the types of

succession? What do you mean by 'Hydrosere'?
Describe the stages of Hydrosere.

1+2+1+6=10
AP TS F (@R 2 [feq g AR Jefeq
T | TRt e glzcgitifse Ko «s <
ARl 9 71|
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